
Two more than three is 6. Sally is 15 and Daniel is 7. 
The difference between 

their ages is 8. 
There are 6 people on red 
table, 3 on green, and 4 on 
blue. There are 15 people 

altogether? 
There were 12 people on 
the bus. 4 people got off. 
There were 8 left on the 

bus. 
There were 15 biscuits in 

the packet. I ate 5 of 
them after lunch. There 

were 11 left. 
The total of 4, 5 and 3 is 

12. 

A teacher has 15 stickers. 
She gives out 3. She has 

10 left. 

There are 22 children in 
purple class. On Monday, 
3 children were absent. 
There were 19 in school. 

I share 8 sweets equally 
between my 2 friends. 

They have 5 each. 
There are 12 chocolates 
in a box. I ate 6 of them. 

There are 6 left. 

I have 10 sweets. I give 3 
to my friend. I have 6 

left. 

5 kittens are in a basket.  
2 jump out. There are 4 

left in the basket. 


